FEARIE (T 8k 5 )

2108=E
209%E
2068=EF (COMW)
(COM- 1)
201 8=
2028 %
2038E
2048 E
2088 =
(COM-III)
ﬁ et 207H=E
N” MEa—F+— (COM-1I)
BEEE AREER) ; 2 F
ITYRTYRER—/L
Ai@ ([ELE 12 5H7) 4
SPRFTOT I A

(1) T8k PR THE18 THI BR 2&FHA) /450
(2) NA FLIRERAT AN A X — IS g (N 3247) JRAR [FAA) EEFT &4 345
1HALIE, 1—3 FrfLIR, 13 EEFIR 15 4 U B
22 BIROF 24 KR 26 7051 33 dLIAE A HHEAT
@Imv JR OWfEHmE  FLIER (15:45 % - FriLig 15:53 F&  19:30 %)
(16:51 3& « HHFLIR 17:02 F&  20:39 #5)
QRSN ST LIRS (15:51 % - FALIR 16:00 F&  #5/X 18:38 #5)
FLWRFE (17:26 % - HALIR 17:35 58
HrJA 20006 45 + #IEE 21:50 75)
@ALRFE  ALIEFE (17:03 % L5 22:06 )
WEEES  FIAW, 2BEFHEROF L OHRO L Z AR
AT A MREE RS O 723 BEEEAR
G)Eukisk 7 ALvTy (#5225  BER (&5 25)




BEAE

SBERERE

Z2E8E

4028

4048 E

403 E

401 F|E

S
\1“‘
HEI—F—
!" {'Illh‘ 407H=E
BR=IS
s064E | BASD
zRa=E

AT« Piv—=)b
40 7H=E

4018=
402¥=
403H=E
404H=
405¥=
406¥H=E

SR =E
BRaE (Max 35 8)

LBERZE - HIRIZE
BBEBEE
ZFEEE (BEED)

Fliw=E
=

5
I

st

/

1

K

2E£R—)L (3B BREE




(5B ICR D EESH]

—

BF LB, mAREA (T EEEAE 18 T HBUS ) 1270 £,
itz R LT EEawn, ML, ARLEOT7 L= — b LITEWTSESY, (AU v NIIHELTHY £77,)

AT, AR TRGEE = —T— 2BV £, 4FEETIE, PRIEENSBEL 2SN,
TR UL, A (ERE 12 BE) e _R—2—R3H 0 T T, THEHAL I,

EREOTIE, BBRREE (AWAT 1 7Hh—0) BFITEOT LS, A2, BRAEAEEO ERHNOFHECHRL
TLEEW,

PSR £ LD, SRS~ BEH LT, Bl THAT MO LRES L, BEL T ZEW, (ARG ~OHE
A DR HIALERIE)

BRI, BERRETFARRSNIFES S 2 HAD TE EE A, BROSRALCHOEME LB T OSSN EITEEIRIZ 2D
FTOT, THEELZEW,

WA TR, BRE IR0 £9, B2 T 26T, 3P Tedd—) 2R LTS ZE W, k. IAER—V] (ZITE
OHBRTHEE ETFFEOHBRTHEIIH D T, TR R ETH FEADT, HENLHTHEIIZI N,

BB TR, FEESNRMICZRY L7206, FFASXSHIZRED . FFE LTS,

BWE TR, N ER, bo 70 —Z0/H X, 4BOZMTINWETOT, BEBIFD <7ZE0,



Ghx=iz] 407 8=

(B i) FRAR

/

(T ER) #ud

PACDEY R Y

\\\ 27—l
— ¥ AL —
F v A L85 (FER)

e

=L

A
H

]_I_

BEEER AL A X2 A)

fit  45cm =S 73cm

B 65emX 2 5=130cm
(5% 5.5 %5
(K#R) KB/ Fox R

J |

WO
Bif% 60cm 4% 50cm

[

1 BB ANl RE

]
| B ST ATF

)

[

JFEE O E S 44 cm

(5% 5.5 %

) L

KA 240 (HAf)

RIS D 72 L

MR (AE)

ZEIT =T 3 - BRA Y




